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Correct Marks : 2 Wrong Marks : 0

Which among the following is the best field of study to improve the ability of students to
experiment and analyse ?

Options :

Science
91394394301,



History

91394394802,

STasiabdang BCONOMICS
Lanvuaves

91394394504 o oUAE
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Options :

ICEIG!

215394234801,

Q1294294802
91294294803, a:[ :”E l
grare

9123345945804,
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Suppose as a teacher you are training your students in public speaking and debate. Which
among, the following is most difficult to develop among the students ?

Options :

Concept formulation
91394394805,
1394394506, ¥ 0ice modulation

Usine/Selectine appropriate laneuage
41394394807, 8/ & appropric anguag,
41394394505, Control over emotions
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Options :



srayron famm

913345394505,

srssissEe T Tl S el

913345394807, g HTHT bl i

qraAr W

913345945808,
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Among the [nﬂnwing which one is not an instructional material ?
Options :

s1394394500, 12udIO podcast

5 WL . —
1304394510 L rinted study guide

Overhead projector
91394394811,

) e video
STEehAEs Youtube videc
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Options :
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Which among the following is best advantage of Choice Based Credit System ?

Options :

SRS Shift in focus from teacher-centric to student-centric education

IOV classroo C
a1zaaza4514 LOOPTOVING classroom attendance

1394304515 11elping teacher to complete syllabus on time

Reducing examination anxiety among students
91394394816 2 4 ’
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Which among the following reflects best the quality of teaching in a classroom ?
Options :

B . o # o = z x = 5
91394394517 ['hrough full attendance in the classroom

Through the use of many teaching aids in the classroom
91394394818, :

1304394519 LDrough observation of silence by the students in classroom

o ¥ ." U— . k. Ir -|! - I--| = -|’ L-' -~ L-' - —) -|- Il-| -Il-| . - - I.-|Il-| 1’ 1,
— ['hrough the quality of questions asked by students in classroom
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Options :

heql H qof Jufefd & wreaq 9§

913345945817,

hedl H 37k T Toeqor 9revl & [ied o

9133453945815,
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9153394234819,
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291334594820,

Question Number : 6 Question Id : 91394324148 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The four major operations in scientific research are :
(a) Demonstration of co-variance

(b) Elimination of spurious relations

(c) Sequencing in terms of time-order

(d) Self-education

(e) Operationalisation of personal choice
(f)  Theorisation

Code :

Options :

(a), (b), (c) and (d)

215394294821,

(c), (d) and (e)

91394394822 (b)’

91394394823, (a), (b), (c) and (f)

91394394824, (€), (d), (e) and (f)
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(a), (b), (c) 3R (d)

91334594821,

(b), (c), (d) 3R (e)

B91234594822.

@), (b), (c) 3R ()

9133453945823,

(c), (d), (e) 3R (f)

215942945824,
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Formulation of a research problem depends upon :

(a)  What is the object behind the researcher’s choice ?

(b)  What are the specific questions ?

(c)  What is the conceptual model ?

(d) What negative factors to research upon ?

(e) Reasons for unlimiting the study.

(f)  Construction of hypotheses.

Code :
Options :

c), (e) and (f)

91394394525, (a), (



91394394826, (b), (¢), (d) and (e)
91394394827, (a), (b), (c) and (f)

91394394828, (), (d), (e) and (f)
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91394394825, (a), (¢), (e) 3R (f)
(b), (), (d) 3R (e)

91334594826,

@), (b), () ¥R (f)

2153394234827,

(©), (d), (e) 3 (f)

913345394828,
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A variable that is manipulated is known as :
Options :

. _—
91394394559, Control variable



srasrsaansy, LAependent variable

B ' 8]
150430455 LNNdependent variable

Confounding variable
91394394832,
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Options :

. ; a?

913345945825

.
91334534830, ﬁm =

9123345945821, =

IAS ATl =1
913294294532,
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The components of a research design are :

(a) Comparison (b) Control
(c) Reactivity (d) Manipulation
(e) Non-representativeness (f)  Generalisation
Code :
Options :

91394394833, (@), (€), () and (f)
— (b), (¢), (d) and (e)

91394394835 (@), (b), (d) and (f)

91304304536, (<) (), (€) and (f)
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(@), (), (e) R (f)

913345945833,

(b), (c), (d) 3 (e)

912345945824,

(a), (b), (d) 3T (£)

913345945835,

(0), (d), (e) 3T (f)

2915394234856,
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Artifacts that arise and affect the internal validity in research are :

(a) History (b) Randomisation (c) Maturity
(d) Instrumentation (e) Experimental mortality (f)  Matching
Code :
Options :

e e (a), (b), (c) and (d)
S (a), (¢), (d) and (e)

(b), (¢), (d) and (f)

91394594529,

91394394840, (d), (e), (f) and (b)
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Options :

(a), (b), (c) 3 (d)

91334594837,

(a), (), (d) 3R (e)

91234594825,

91394394839, (b)’ (‘:)’ (d) ajT{ (f}

(d), (e), (f) 3R (b)

913345394540,
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Read the following passage carefully and answer questions 11 to 15 :

Singapore has long advocated for India to take up its role as an integral part of the
region. It is gratifying to see how Asean - India relations have grown during the past
25 years. In 1991, when the Cold War ended and India began its economic liberalisation,
Singapore saw an opportunity to deepen ties and build on its historical and cultural links
with the Asian region. Singapore pushed for India to become a full Asean dialogue partner
in 1995 and join the EAS in 1995 and since then, Asean - India ties have strengthened. All in
all, around 30 platforms for co-operation exist, including seven ministerial dialogues and the
Annual Leader Summit. However, there is scope for more and it is a must. For instance,
there are tremendous opportunities in enhancing physical and digital connectivity between
India and Asean. Asean is committed to strengthening land, air and sea linkages with India.
These linkages will enhance people-to-people flows, as well as boost business, investment
and tourism. The India-Myanmar-Thailand trilateral highway will connect India’s Northeast
to mainland Southeast Asia. While one can fly directly between India and several Asean
countries, there is still much room to expand air links to support growing business and tourism.
Beyond physical linkages, digital connectivity is the new frontier in the Fourth Industrial
Revolution. India has made great progress in innovation, Start-ups and digital inclusion.
There are opportunities to apply initiatives such as Aadhaar in our region. E-commerce and
FinTech are two other areas of potential collaboration. As an economic hub, Singapore can
serve as a springboard to launch these ideas to Southeast Asia and beyond. India’s role in
Asean should be anchored by growing economic ties with Singapore. The economic
integration involving 16 countries with one-third of global GDP and trade will create an
integrated Asian market.

Sub questions
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What prompted Singapore to opt for stronger ties with India ?

Options :

91394394841 End of Cold War

T Economic liberalisation in India

Historical past
91394394843,

Geo-political equations
91394394844,

Question Number : 12 Question Id : 91394324155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The commitment of Asean with India is :
Options :

e i 1alogues
a1504394m4s  More and more dialogues



Offer political platforms
91394394846,

Improving transport links
91394394847, .

Hold leadership summits
91394394848,
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What is needed to encourage tourism between India and Asean ?

Options :
91394394849, Alr links

Srssiseees INNOVATON

Start-ups
91394394851,

Waterwavs
91394394352, J
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The areas of collaboration between India and Asean are :
(a) FinTech
b) Aadhaar

c¢) E-commerce

(
(
(d) Digital backwardness
(e) Trilateral highways
(

f)  Fourth Industrial Revolution

Options :

(a), (b), (c) and (d)

91334594853,

(b), (¢), (d) and (e)

913345945854,

91394394855, (€), (d), (e) and (f)



91394394856, (a), (¢), (e) and (f)
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Who can be India’s launchpad for an integrated Asian market as per the passage ?
Options :

Srssssmss R

Mvanmar
91394394858, -

Southeast Asia
91394394859,

Singapore
91394394860,
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Options :

Sitd g5 ol T

91334594541,

URd H AT IR

913345945842,

Ufqeriass Ava

9153942348435,

Y-SR FHTHTT
91334294544,
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Options :
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Options :

r * r
91334594545, C ”E 194

91334594850,
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91334594852,
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(a), (b), (c) 3R (d)

913345394552,

(b), (c), (d) 3 (e)

91334594854,

(©), (d), (e) 3R (f)

9153394234855,

(@), (©), () 3 (f)

91234594856,
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In the digital era, there is a fear that classroom communication may result in :

Options :

. -
91394394561 Stimulation

91394394867 Over-stimulation

Quick adaptation
91394394863,

Passive adaptation
91394394864,
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9133453945861,

AfqUTo

9153394234862,

B13945394863. i i}
91334594564, 1 11
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Non-verbal communication is considered :
Options :

B a2
91394394865, L TECIse

91394394z, INformal

91394394567, LOrmal

41394394868, Culture-free
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92T

91334594565,
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91234594566,

P IECT

H13345394867.
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912345394865,
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Negative criticism as an element of classroom communication will lead to :

(a) External sympathy (b) Justification

(c) Defensiveness (d) De-motivation

(e) Supportive listening (f) Confrontational empathy
Code :

Options :

(b), (c) and (d)

9133453945869,

sisgiseiaze fC)-(A) and (s)



91394394871, (d), () and (f)

(a), (b) and (c)

913345394872,
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913345945869,

(c), (d) 3T (e)

2153942345870,

(d), (e) 3R (f)

912345394871,

(a), (b) 3R (c)

2153942945872,
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Assertion (A) : Teacher communication is central to classroom management.

Reason (R): Teacher communication behaviours should not be used to regulate the
classroom behaviour of students.

Code :

Options :

91394394573 DOth (A) and (R) are true.

1394394574 DOt (A) and (R) are true, but (R) is not the correct explanation of (A).

91304394575 () 1 true, but (R) is false.

S (A) is false, but (R) is true.
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The rhetorical approach in classroom communication considers teachers as _____agents
of students.

Options :

[Influencing
91394394377,

91394294578, Academic

91394394570 Official

mn-0fici:
91394504550, [N ON-official
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B13345394875.

HATYgRTI

913345394879,

TR - 3AfererTiien

91334594880,
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
[f ABODE is coded as ADRH], then the code for AGRO will be :

Options :

91394394881, AVCD

B91334594882. AlLUS

91394334883 O]

A ']
91394394834, ALVX

Question Number : 21 Question Id : 91394324164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Ife ABODE &1 ADRH] & &4 § eag fan 7 8, d AGRO &1 e =1 :

Options :

913943945881, AVCD

91334594852, AIUS

AIST
91394394883,

91334594554, AIVX

Question Number : 22 Question Id : 91394324165 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The next term in the series 0, 1, 9, 36, 100, 35

Options :



91334534885 T

91334594856,
1C
913345394857, 196

91334594858,

Question Number : 22 Question Id : 91394324165 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
39 4@ 1 T HIfT :
0.109. 35000 .
Options :

913345348585 =<

291334594856,

B13845394887

9123345945858,

Question Number : 23 Question Id : 91394324166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The next term in the letter series DEF, HIJ, LMN, POR, TUV,  1is:
Options :
91394394889 WYZ

91394394890, YZA

9139453945891, XYZ

9133453948392, WXY

Question Number : 23 Question Id : 91394324166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FUSHH HEA 1 T HifoT
DEF, HIJ, LMN, PQR, TUV,
Options :

91334594859, WYZ

YZA
91394394890,

9133459458591, XYZ

9123345948392, WXY

Question Number : 24 Question Id : 91394324167 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Choose the word which is different from the rest :

Options :

91394394893, Aravali Hills

91394394504, ruValik Hills

91394394895, Nilgiri Hills

91394394896 Mount Kilimanjaro

Question Number : 24 Question Id : 91394324167 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T H 99 &g 1 FIF FI
Options :

912345945893

91334594594

9138459458595

913345945396



Question Number : 25 Question Id : 91394324168 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Jenifer’s father-in-law is my brother. Helenis a grand-daughter of my mother. How is Helen

related to Jenifer ?

Options :
Daughter-in-law

913943934397,

Sister
91394394398,

b
o1394394509, O1SteT-IN-lan

1394394000, Mother

Question Number : 25 Question Id : 91394324168 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ST o X B 9TE €1 & U 0T 1 U €1 g TR SR F S 9 ey g2

Options :

9123345394897, E\

9133459458395, L

aret

2913394234899,

91334594300, Hi

Question Number : 26 Question Id : 91394324169 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Among the following, there are two statements which can’t be true together, but can be false
together. Select the code that represents them.

Statements :

(a) All poets are dreamers. (b) No poets are dreamers.

(c) Some poets are dreamers. (d) Some poets are not dreamers.
Code :

Options :

(a) and (b)

91334594301,



(@) and (d)

B1394539480Z.

(b) and (d)

913345394903,

(c) and (d)

913345394304,

Question Number : 26 Question Id : 91394324169 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fretifera <1 e Uk WY T TE 21 Hehd, foh U Wy e € Wehd ¥ 1 HE S HE =
Exd

Y

[eff g TR 2 ¢ | (b) I HiG FHAGRT TEl el |

(a
() FD FHa EHAIRI A B | (d) FS FHfa =gl 78 T ¢ |

)
)
Options :

(a) TR (b)

91334594301,

(a) 3R (d)

9123345943902,

(b) 3R (d)

913345394903,

(c) SR (d)

9123345943904,

Question Number : 27 Question Id : 91394324170 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two premises (a) and (b). Four conclusions are drawn from them. Select the
code that states validly drawn conclusion(s). [Taking the premises individually or jointly]

Premises : (a) All judges are lawyers.
(b) No doctors are lawyers.
Conclusions : (i) No lawyers are doctors.
(i) No doctors are judges.
(iti) All lawyers are judges.
(iv) Some doctors are judges.
Code :

Options :



(1) and (iii)

2915334234305,

(i) and (ii)

912345943906,

(1) and (iv)

9133453943907,

913345943908, (I_[) and (I'.L[)

Question Number : 27 Question Id : 91394324170 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
1= < sErET fou MU E, (a) 3 (b) | Y =R feRd e €1 39 UE % #5199 L o 3y
Trepe SIaettar €1 [ SR S W T 919 A1 36 oid 20
IMUWETS :  (a) Gl =AY g €|

(b) HE fafsHes a#ia T 2|
R (i) E g afhes T g
(
(
(

i)y T fafhras =i =

iii) T FehTel =AY E |

iv) F Tafwes = )
C &R

Options :
912943943905,
91:942394906.

291334234907,

9123345943908,

Question Number : 28 Question Id : 91394324171 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Under which of the conditions an argument may be valid ? Select the correct answer from
the code given below :

Statements : (a)  When its conclusion and premises are true.
(b) Even when its conclusion and one or more of its premises are false.
(c)  Only when its conclusion is true.

Code :

Options :

(a) and (c)

9133453943909,

(a) alone
91394394910,

(a) and (b)

215394294911,

91394394912, (c) alone

Question Number : 28 Question Id : 91394324171 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o uRfeerferdi 3 T oF 99 3 Tk §2 9 R Ee ¥ wd s T

FAT: () T THF (TR SR STER-aE HE A 2 |
(b) & 9 5 THF okt SR T A1 THY ATYF YR Terd 2 © |
(c) Ta& auf v frehd w1t 2 2

he

Options :

(a) 3R (0)

215394234909,

9123345394910,

91334594911,

91334594912,

Question Number : 29 Question Id : 91394324172 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T'ruth and falsity are attributes of :



Options :

I-’rnpmsi tions
91394394913,

Arguments
91394394914,

Op nions
91394394915,

g
91394394916, Debates

Question Number : 29 Question Id : 91394324172 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
=1 3R 39Tl fFd & o € 2

Options :

31394334913, m a:;
T F

21394294914

- fHa &

912345394915

AR-faarg

913945394916

Question Number : 30 Question Id : 91394324173 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following can be validly inferred from the proposition - “All animals are
wild” ?

Options :

51394394917, No animals are wild.

91594394918 Some animals are wild.

91394394919 D0Me animals are not wild.

sprsmuEess INO non-animals are wild.

Question Number : 30 Question Id : 91394324173 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



“geft a1 SRt 2 - 39 wfaafa @ frifea B 9w 9y HeeEe @ S 9ehd © 2
Options :

TS Y ST g |

91334594917

ECANEUCIES

2913394234918

D 9y Sedl T € |

215394234919

I TR-u Siredt E E

215394234920

Sub-Section Number: 4
Sub-Section Id: 9139431289
Question Shuffling Allowed : Yes

Question Id : 91394324174 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 33)
Cestion Lakel Comprehension

Data on % of villages not electrified in 6 States is given below (in the year 2000) :

State | %o of villages not electrified
A 25%
B 45%
) 20%
D 60%
E 55%
F 30%

Answer the following three questions :

Sub questions

Question Number : 31 Question Id : 91394324175 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

How many States have atleast 50% or more electrified villages ?
Options :

91394394921 4

~y
91394394922, -



)
91394394923, <

1

91334594924,

Question Number : 32 Question Id : 91394324176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which State has twice the percentage of electrified villages in comparison to State D ?
Options :

91394394905, Otate A

91394394926, State B

91394394907 Otate C

91394394025 Otate D

Question Number : 33 Question Id : 91394324177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the year 2000, the total number of villages in State D was 15,000. In the year 2010, the
total number of villages had increased to 20,000 out of which 10,000 villages were yet to be
electrified.

The % of villages not electrified in 2010 in State D has thus
Options :

30 3
9129432944929, (JL s UE

Come down
91394394930,

Not enoueh data
91394394931, o St

-1.- -) -
01394394935 Cannot be meputed

Question Id : 91394324174 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 33)
Juestion Label : Comprehension



6 Tl § Tagdien<or § Sfad Tidl i iaeiadl Gesl siss == 79 T € (39 2000 #) :

T | faerdtentur § dfem Tidi o6t gfagraar
A 25%
B 45%
C 20%
D 60%
E 55%
F 30%

B L= E G B G s L

Sub questions

Question Number : 31 Question Id : 91394324175 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fohdd Tl & 9 T FH 50% I 399 ATF T fogdiFa & 9% 22

Options :

91334594921, 4

)
91394394922,

P
91394394923, =

1
91394394924,

Question Number : 32 Question Id : 91394324176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
g T H fogdicra Tial o1 T&A &1 9faed D T4 i g1 8 ¢ € 2

Options :

91394394925, A

DN
91394394926,

91334594927, Y

T D

B913345394925.



Question Number : 33 Question Id : 91394324177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
T4 2000 H, D 9 H TIidi &l el G&AT 15,000 & | 9 2010 H, €] i T@A 9€ F 20,000 7 T
off Torad 9 10,000 el &1 At fogeira foran S 1)
39 UE, T D H 39 2010 § fa=qdistor 9§ dfea Wiel 1 9@ i giaeradl |

Options :

91334594925, a-f-i'; TE %-

TET

913345394920,

9T w8

9133455945931,

91334594932, :ré-r ﬁ STl |

Sub-Section Number: 5
Sub-Section Id: 9139431290
Question Shuffling Allowed : Yes

Question Id : 91394324178 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (34 to 35)
Juestion Label | Comprehension

Data on education index in a few States is given below :

State Name| % of population below education index
A 20%
B 25%
C 23%
D 17%
R 16%
3 21%
G 15%

Answer the following two questions :

Sub questions

Question Number : 34 Question Id : 91394324179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



If the population for State F is 2.6 lakhs, what is the population below education index ?

Options :

20 lal-ha
srsgisgiesy DY Akl

srssismsas: OB00 LEKNS

91394394935, 19000 lakhs

91394394036, ° LU0V lakhs

Question Number : 35 Question Id : 91394324180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
If the total population of State A was 5 lakhs while the population in State B was 2 lakhs, the
number of people below education index will be :

Options :

. o _
91394394937 Higher in State A

1o - 7 7,
91394394938, Higher in State B

91394394559, Equal in State A and B

SissasEyny anhiol be calculated

Question Id : 91394324178 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (34 to 35)
Cuestion Lakel Comprehension



F9 Tl o T1en gashics et Siie = fag mu ¥ -

T o1 =T | To1e erchich O i<l il ATETET ohl FA9TAT
A 20%
B 25%
C 23 %
D 17%
E 16%
F 21%
G 15%

feiferd &1 wei o I Q
Sub questions

Question Number : 34 Question Id : 91394324179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
gfe T F &1 A& 2.6 A1 ¢ af 1eql Y=ehish o A= &1 STErel fohal ¢ 2
Options :

.39 @™

215394234955

91394394934 2200 ol

91394394935, 49000 <l

51394394936, 21000 &

Question Number : 35 Question Id : 91394324180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

G T A 1 Fdd AAGT 5 AN o, Saieh U159 B 1 3@l 2 T o, o1 f¥1eq g=enian 9 1< & arl
1 HeEA 2

Options :

=
91394394937, (9 A H =
91394394938, WA BT =

913943943939 T A Sﬂ{ B ﬁ HHT



T &l bl ST bl

913945394940,

Sub-Section Number: 6
Sub-Section Id: 9139431291
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 91394324181 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A small text file stored on user’s computer by some websites in order to recognize and keep
track of user’s preferences is called :

Options :

91394394941 | 1ISLOTY

Log

91334594942,

91394394943 COOKkIe

MO
91394394944.1{e£( FE

Question Number : 36 Question Id : 91394324181 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

WA il WATHERI3T i Je9H - a9 39 W ARE @4 & %9 O Fd) JedEe gR 9@ &
FE T LR F T T oY TFE TR Feand ¢ ;

Options :

91234594941, -

913345594942,

9153342345945,

9139453945944, i 5

Question Number : 37 Question Id : 91394324182 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

denotes an error in a C(][Tlplltt‘!' prograim.

Options :



' = 4
91394394945, V1IUS

91394394946, DIt

Bug
91394394947,

Spam
91394394948,

Question Number : 37 Question Id : 91394324182 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

WW [ TRt F[fe =1 <wian §

Options :

91334594945, |

2915334234946,

Ul
Q1294394947

oy

91334594945,

Question Number : 38 Question Id : 91394324183 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The output quality of a printer is measured by :

Options :
Dieits per inch

91394394849, ALER

Dots per inch
91394394950,

Dots per cm
91394394951

Jots
91394394952, Dots s BEn

Question Number : 38 Question Id : 91394324183 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



o= 1 32 ToTE1 °Id S ©

91394394949, fefsrzm wfd 2=

91334594950, ™ gﬁ ﬁ
913345394951, e

2eq gfd ety

491394394952, 2

Question Number : 39 Question Id : 91394324184 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following are audio file formats ?

(a) .wav (b) .aac (c) .wmv (d) .flv
Code :
Options :

(a) and (b)

913345394952,

(b) and (c)

91334594954,

(c) and (d)

21594294955,

(a) and (d)

913345394956,

Question Number : 39 Question Id : 91394324184 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

freafafad § 9 [ 9 sAifedl wEd wiHe € 7

(a) =] TH (b) T"TH (c) SsquHdl (d) .U% TSl
che

Options :

(a) 3R (b)

215394294955,

(b) 3R (c)

9153342345954,



(c) 3R (d)

913345394955,

(a) 3R (d)

91334594956,

Question Number : 40 Question Id : 91394324185 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In a computer, if 8 bits are used to specify address in memory, the total number of addresses

will be :
Options :

913345394957,

9133453943958,
913345394959,
91334594960,

Question Number : 40 Question Id : 91394324185 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U e H, Afg 8 fagq 7 # ugH % fog wdnm 2 8, @ Ui 1 Fa g 2

Options :
=19
91394394957, 212
-
sngougscsg LA
A
91394394059, 290

9133453943960, 8

Question Number : 41 Question Id : 91394324186 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The annual range of temperature in the interior of the continents is high compared to coastal
areas. What is/are the reason(s) ?

(a) Thermal difference between land and water.

(b)  Variations in altitude between continents and oceans.

(c) Presence of strong winds in the interior.

(d) Heavy rains in the interior as compared to coastal region.
Code :

Options :

(a) only
91394394961, ’

(a) and (b) only

91334594962,

(b) and (c) only

91334594963,

91394394964, (@), (b), (c) and (d)

Question Number : 41 Question Id : 91394324186 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
mﬁ@ﬁﬁgﬂ;ﬁ%@ﬁ%ﬁﬁﬁ@ﬁﬁwaﬁmmﬁwéﬁ%l TUH/ITH 1
FHRIE/E 7

(a) Y R I F g qg AR

(b) TEEY 3R HEEIRI &I gg@ 4 fads

(c) offedt & H 1 gan =1 Surefd

(d) dead & gor H ofiad a3 § 9l 9w

s T )
1504354062 T (a) ST ()
o1384304s63, T () 3 (0)
roorsonen (@) (0), (Q) IR ()

Question Number : 42 Question Id : 91394324187 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
How much carbon is being added to the atmosphere by burning of fossil fuels ?
Options :

2 - 6 billion tons

91394394966,
a1R0dm940s7, E O billion tons

L - - - ;
eyl Ll billion tons

Question Number : 42 Question Id : 91394324187 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

SETYH 349 1 A 9 FraraRy § fohdan e FeH S[Sar ¢ 7

Options :

b-9 [?ai‘aaa G|
91394394965,

D ﬁfﬁ&ﬁ
91394394966, — 6 e
91394394967 4-6 IEI <

Q.1 ﬁ:{ﬁ?l’&?{
91394394968, 12 <

Question Number : 43 Question Id : 91394324188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which part of India, the tropical Western Ghats are situated ?
Options :
51394394969, 1 UTYAD

o1354394970 Rajasthan

91394394971, ("u]dmt

91394394972, Kerala



Question Number : 43 Question Id : 91394324188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

I HfeaHg ufvey 9 9yrd & fog amr § frog 82

Options :

91334594969, |

91334534970,

91334594971, I

E e

913345394972,

Question Number : 44 Question Id : 91394324189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A source of renewable power which can be developed with minimum cost is :

Options :

91594394973 VVind mills

Tidal power
91394394974,

Geothermal energy
91394394975, )

Biomass power
91394394976

Question Number : 44 Question Id : 91394324189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TATRTOE S5t 1 | o =9 o 9 fasfag e st 9 €

fa= oo

913345394973,

2ESd Ter
91294394974,

91334594975, I | [l | iﬁl EI ”



AETETY gra

91334594976,

Question Number : 45 Question Id : 91394324190 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Natural vegetation of an area needs to be preserved for the future, mainly for the purpose
of :

Options :

3 ine soi 56
— Preventing soil erosion

a1zaaz0497 L TOViding habitat for birds

Studv by scientists
91394394979, S

I-‘mvidmg material for breeding} new species
91394394980,

Question Number : 45 Question Id : 91394324190 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ot &1 =1 Urehfaes aeafd =1 gerd: fre=faiea § 9 foa uareq 9 vfasy & foau ofwfam e e
F1 STEYTFHA & 2

Options :

&1 3TET 1 UFh & foau

913345394977,

_W&%ﬁﬁ*?ﬂ%&lqwﬁﬁw%ﬁm
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The National Knowledge Commission (NKC) was established in which year ?

Options :

91334594951, 1998



2000

91394394982,
2005
21594234955, 2005
s
2915334234954, 2007
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In which year Education Commission under the Chairmanship of Dr. D.S. Kothari was set

up ?

Options :
1959

91394594955, 1952

91394394086, 1999

912334594957, 1960

2913342349855, 1964
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Which of the following was launched in 2013 with the purpose to provide strategic funding
to eligible state higher educational institutions ?

Options :

g s All India Council for Technical Education

R —. Sarva Shiksha Abh[} an

ST Rashtriya Uchchatar Shiksha Abhiyan

Rashtriva Madhvamik Shiksha Abhivan
91394394997, 2 : 2
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The University Grants Commission (UGC) was formally mnaugurated on 28 December 1953
by whom among the following ?

Options :

1394394993 Mrs. Indira Gandhi

91394394994 Sh. Maulana Abul Kalam Azad

s srses B 3K Radhakrishnan

' d g
1394594005 DT- Rajendra Prasad
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The University Grants Commission has a scheme for “Human Rights and Values in
Eduaction”. Under this scheme, which statement is incorrect among the following for
‘Human Rights and Duties Education” component ?

Options :
To encourage research activities.
91394394997,
1394304905 1O develop interaction between society and educational institutions.

g e 1O establish value and wellness centres in schools.



61394395000 To sensitize the citizens so that the norms and values of human rights are realised.
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